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Police Recruitment Test : 2016
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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Even when you win a match you always feel you__ have played better.
* must not
®* can
e could
* ought to
Correct Answer :-could
2)
Question Stimulus :-

Fill in the blank with the correct option.

You____ give the bank a written notification if you wish to close your account.
* must
® can
* may
* might
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

The President come to visit our offices tomorrow if the meeting finishes before
5 pm.
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* must

* need

* should

°* may
Correct Answer :-may
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The concert had to be called___ due to bad weather.
®* on
e at
e for
e off
Correct Answer :-off
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

You will be brought the disciplinary panel to account for your behaviour.

* besides

* before

®* between

®* in
Correct Answer :-before
6)

Question Stimulus :-

Fill in the blank with the correct prepositions.
3)
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The ship reached the harbor __ the 10th____ June,1998.
e at,in
® in, of
* on, of
e from, of
Correct Answer :-on, of
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The little girl has been ill two days.
e from
* since
e for
e by
Correct Answer :-for
8)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* We left
¢ in such hurry that
e we forgot our tickets.
®* No Error
Correct Answer :-in such hurry that

9)

Question Stimulus :-
(4)
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DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had waiting for the bus,

e you should better

* take a taxi.

®* No Error
Correct Answer :-If you had waiting for the bus,
10)

Question Stimulus :-
DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
e I will help him
e provided he
¢ will mend his ways
®* No Error.
Correct Answer :-will mend his ways
11)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Unless he will not take care
e of his health,
e he will not recover.

® No Error

Correct Answer :-Unless he will not take care

®)
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12)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had a million dollars,
e I would
e buy a big house.
* No Error
Correct Answer :-No Error
13)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* A bad tree

e does not yields

e good apples.

* No Error
Correct Answer :-does not yields
14)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* All good things
e comes to those
e who wait for them.

® No Error
(6)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Correct Answer :-comes to those

15)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Copernicus have concluded

¢ that the Earth goes

* round the Sun.

®* No Error
Correct Answer :-Copernicus have concluded
16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
®* The higher you go, the colder it is.
e Higher you go, colder it is.
* The higher you go, colder it is.
e Higher you go, the colder it is.
Correct Answer :-The higher you go, the colder it is.
17)
Question Stimulus :-

Fill in the blank with the correct option.

He always carries _______ dollars for emergencies.
o few
* afew
® the few

e a little
(7)
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Correct Answer :-a few

18)
Question Stimulus :-
Fill in the blank with the correct option.

Unfortunately, I had time to enjoy New York because I had to work so much.
o little
* a little
* the little
°* few
Correct Answer :-little
19)
Question Stimulus :-

Fill in the blank with the correct option.

She has friends who can help her in the time of difficulty.
* afew
* the few
o little
* a little
Correct Answer :-a few
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, "Will you listen to such a man?”
e He asked them whether they will listen to such a man.

e He asked them whether they could listen to such a man.

(8)
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e He asked them whether they can listen to such a man.

e He asked them whether they would listen to such a man.
Correct Answer :-He asked them whether they would listen to such a man.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said to him, “"Please wait here till I return.”
* He requested him to wait here till he returns.
* He requested him to wait there till he returns.
* He requested him to wait there till he is returning.

* He requested him to wait there till he returned.
Correct Answer :-He requested him to wait there till he returned.
22)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, "Why were you absent yesterday.”
®* The teacher asked the student why he had been absent the previous day.
* The teacher asked the student why he was absent the previous day.
® The teacher asked the student why he has been absent the previous day.

e The teacher asked the student why he had been absent yesterday.

Correct Answer :-The teacher asked the student why he had been absent the
previous day.

23)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

©)
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Does she do her duty?

* Are duties done by her?

e Is her duty done by her?

e Has her duty been done by her?

* Have her duties being done by her?
Correct Answer :-Is her duty done by her?
24)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Who does not obey you?

®* You are not obeyed by who?

®* You are not obeyed by whom?

e By who are you not obeyed ?

e By whom are you not obeyed?
Correct Answer :-By whom are you not obeyed?
25)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the Labourers.
e The Labourers is cutting the firewood.
* The Labourers are cutting the firewood.
e The Labourers have been cutting the firewood.

e The Labourers have cut the firewood.

Correct Answer :-The Labourers are cutting the firewood.

26)
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Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be

gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What does the phrase ‘drill into' mean?
* To penetrate some surface by boring.
®* To destroy something by blasting it.
®* To break it into infinite pieces.

e None of the above.

Correct Answer :-To penetrate some surface by boring.

27)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it

and therefore for infections to re-emerge shortly after treatment.
(11)
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The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

Why does the writer say ‘Infections in the roots of teeth are hell to treat’?
* Because the treatment is very costly and available only outside India.
® Because the treatment can be done anywhere and everywhere.

e Because the treatment is very prolonged and painstaking.
* None of the above.

Correct Answer :-Because the treatment is very prolonged and painstaking.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

(12)
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Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

How can the biofilms be destroyed?
* By the use of dental plasma torch
e By giving regular antibiotics
e By drilling and blasting alternately

® None of the above

Correct Answer :-By the use of dental plasma torch

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be

(13)
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gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What is the first step of the treatment of tooth infection?
® Drilling into the root of the tooth
®* Cleansing or removing of infected material
® Filling of tooth cavities
®* None of the above

Correct Answer :-Drilling into the root of the tooth

30)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chungqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What is ‘gangrene’?

®* An uprooted teeth

(14)
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® A serious and potentially life-threatening condition
e A wounded lower jaw

* None of the above

Correct Answer :-A serious and potentially life-threatening condition

Topic:- Hindi
1)

Question Stimulus :-

Frafafea T o wryde yeer 3P H fRd T sgfawad uxAl § 9 fAwer &1 T HI0

IR § TS YR 95 39 AT d ¢ Rre v 9o a8 e 91 fRfdyar & a1y arivw 9 fRIfy s g 2
3R TA® fawy axg Sl War 99 faeu g o diur 9@ a8 siiaamdt aniew o1 f5d-Ria awdt 31 s gurd
[ ST AT @) 31 S sraAn fAvfa SufRua A8t #R uar ok Y off ot 3@ Shiew it
?ﬁﬁ%ﬂﬁ%%ﬂamﬁ%ﬁmﬁ@aﬁmméﬁwaﬁwalamnnﬁ’r%,vhw-
o Y &7 gan | FuR A I 3iftre de-ita a8 aafed @ o aurd & $ia vel & teha s Re 31
ATAPR H STA1, Fifh 39 o 7 A7 $t IR} Faval i gH-gAHR 0 ARaR UeRia fbar i ieq & a-
P B R TG A T 5P IR 94 U1 & bd AU B YSYd HR 59 a¥g G 9T [ 77 31
oA & o Sfta &) - s @i

8
3
-
%
i?i

o gy Bt THR iftraafad & ufa
o Ji<d & sifovs & ufa

Correct Answer :-&cAl & 3ifave & ufa

2)
Question Stimulus :-

fFafafEa T @ aFYde Teek 9@ HH el T sgfawalt uxAl A Ot fAwer &1 9 wY)

TR ¥ UAP YR avg 39 J1 a@ g g dar a@ g sftaw &) fafauar & Ty griery 9t fRufd s ge @

3R YA ey avg S W a fawy @ oy i a@ g8 shaqeardt wnivre & - et 81 em@: aurd

P TP Siigd @1 fafqear o s A &1 591 94 3= fHofa SufRia T8 @2 umar ofik Y oft @) 39 Sita= 3t

ﬁ?ﬁﬂﬁﬁlﬁ?ﬁaﬁ?vﬁﬂ%mﬁam%ﬁmmw&mméﬁmaﬁwemmmﬁr%,ﬁﬁw-
o Y T gon | FOR A Ta9 3ifre de-ia a8 aafa @ e aurd & $iQa var 3t tog & Re 31
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AP R FHR STAT, Fife 39 o = a9 B IR} FaaT B gA-gAH T ARAR Ui far & e & oF-
ﬁ%ﬁwwaﬁmlmmwumﬁ%mwaﬁwﬁwwwmmmﬁ?maﬁ
o+ & i Sfta &) - s @i

Fex axg e @ fafderar & ary Fam et 32
o afeud
o fafssa
* HH<Y
* HHEH
Correct Answer -9
3)

Question Stimulus :-

Frafafad T o wryde yeer 3P H Ry T sgfawad uxAl ° W fiwer &1 wa H0

TR ¥ UAP YR avg 39 A1 a@ g fora dar a@ a8 sftaw &) fafauar & Iy ariey 9t fufa s ge @
aﬁ?uﬁwﬁﬁuaﬁwmwﬁﬁq%mﬁmaﬁﬁvﬂmﬁwaﬁm—ﬁﬁm% | 3 gt
&1 TP St 31 fafaerar & sare iy &1 fmm s sroe ot Sufia 76 w3 arar ok #Y Wt @t 3& offa it
ﬁlﬁ?ﬁsﬁ?\?ﬁaqasmﬁawﬂ%ﬁmm DI THA DY o BT 9g1 TRUH SEagHTH &, S Rb-
|Wﬁmeﬂ$a3=ﬂuagmﬁr%m%umﬁ$ﬁau&raﬁmmwm
aﬁ%wﬁa%nﬁwaﬁwmaﬁﬁqﬂw@aﬁﬁwwﬁh%mﬁwﬁaﬂ%aﬁ%
ﬁ%ﬁw W @1 39 IuRd Su Ui & bd G@UE B YelYd HX 59 a3 Il usT fb agsr 39
Gio ¥ R st o fsa-Rra s @l

ey oiftre gty wfdd ®H 82
o Higd &1 U TU UK H ara
o Y PT a0 HA drell
o gyrd HT fHAT ¥ Ugd A aren
o FHeuAT Bt YT U H YR DA arelt
Correct Answer :-3urf &1 fRFT 9 IRga &34 aren
4)
Question Stimulus :-

(16)
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Frafafea T o wryde yeer 39 H fid T sgfawad uxAl ° 98 fawer &1 T w3

TR ¥ UAP YR avg 39 H1 a8 forg dar a@ g shtaw &Y fAafauar & a1y griery 9t fRufa s ge @
3R Td® oy axg St Fhar 99 foeu 8 o dur 99 a8 Ssfiaad! anica &) fa-Rra sdt 31 e gurd
P TP Silgd @1 fafqear o s arer &1 591 91 3= fHofa SufRia T8 @2 umar ok & oft @) 39 St 3t

T8l fredt ofix Sfta & Tofta W=t & 9T bad JYe¥ 1 THA B 31 F1 961 IR Tt §, o Reb-

ot Y &7 gom FuR & Ja9 3if¥re ds-it a8 e g o gurd & & DI THT B RSP Bl

TP HX sTe, RSP 39 7 A 7w F 9} gear & H-ga? 0 weRkia farar f e & #-
P T P TGN A 1 TP IURd 39 IS F Fd J@U B Yellyd H 39 a8 I UsT i 77s 39
Gie & foe sftaq &t - s @)

il Suarht v gt @ we?

o SftaT o1 vt firerar @

* FHEUAT FT Wl e

o gfS &1 el firear @

* YT BT TRf firerar @
Correct Answer :-sfia &1 Wi firean 8
5)

Question Stimulus :-

fFafafaa TN @ wFYde dedr IS A 33 T sgfawalt wxAl A A8 fAwen &1 9 +¢)

TR ¥ Ud® YR avg 39 A1 a@ g fora dum a@ ag sftaw &) fafauar & Iy anieog 9t fufd s ge @
3R TP fawy axg I} W1 99 faeu g o Jur @ a8 et anive &1 f59-Ra st 31 s gurd
P1 TP Siiad @ fafdear & s gre &1 391 91 3= fAvfa SufRa T8 &% umar ok & oft df 39 st #t

T8l fradt ofix sfta & Tofta Wt & 9T baa JYo3 $1 THa FY 31 F1 98 TR Szt 8, o Rep-

Tt g &1 g | FOR | gaA 4w s+t 98 aafa 8 v aurd & $iQa ve &1 teg & /e &1

ATAPR HX ST, NP 59 7F 7 A9 F1 G} Favar &1 FA-gAHR T SINaR uekia far & shaq & a-
P H R TG T T 5P U 39 U1 & bd GEUE I YOIYd R 59 a¥g I UST [ 77 37
oA & o Sfta &) - s @i

YRS TN A A BT T 72
o I Y AraE § & @t
* IEWY TN A &M
* HHE YW ¥ g T
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o Sflaq YT I99 @
Correct Answer =@M & gra-¢ & 53 & ft
6)

Question Stimulus :-

Frafafea s @ wryde ygar 39 i 3 T sgfawad uxal § I8 fave &1 99 &1

G ST SR, dF 3TUT Y,
R gad ot afe arur 8
¢ &l Faa urg g,
@ SO Rl THH|
TH 96 g A/ @,
TRe U Ry 7 IBTE
gatyd ag it ¢ 7 T,
ST FHTS B & 7 P,
Iae gk &I aiuA Tan|
o9 AT HS IR BT S,
ugd 3% TR S 21

Faa uig Tia w4 A T A2

* Uidi yvsal & g

o A Td & PIHT A

e 34 & i SuTy A

o I3 3R a1d R
Correct Answer :-urdl grvsal & firg
7)

Question Stimulus :-

fFafafaa s @ aFYde dgak SHd A fdd T agfawadt uxAl § Agt fawea 1 9g7 w1

(18)
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& g SR, Y 3ATeT G,
wR 3ad ot afe srur @
¢ &l Fad T g,
@ SO Rl aHH|
T a8 g | @,
TRe U Ry 7 IBTE |
gatey= g ft ¢ 7 9,
ST FHTS B & 7 P,
e R 31 i Tar|
o9 AT WS R BT 8,
g fad®w R e 21

3Ry’ z1eg BT T 3 72

* @

° Uy

* dearR

° Y
Correct Answer :-d@dR
8)

Question Stimulus :-

Frafafey s @ Aryde yeer 39 i 3 T sgfawad uwal d 98 faven &1 99 &1

& T SRR, Y AT Y,
R 3ad ot afe aruT @
@t 2 3 Faa uta 7lq,
@ SO Redl T
T 981 g | |1,
TRe R Ry 7 IBTE |

(19)
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gaty= ag ft ¢ 7 9@,
Ty qHTS B o 7 P,
Sae gk &I afuA Tan!
o9 Y TS W) BT 8,
Ugd fads R e 21

o P! aiu= aar?
o gAY FW B
* PO gaT B
o gAY 3 B

* ST gaieT B
Correct Answer :-gaiyd $w1 oI

9)
Question Stimulus :-

fFafafaa s @ aFYde dgak Sd A G T agfasedt u=Al § Agt fawea o1 9g7 s

G ST SRR, df 3TUT Y,
R 3ad ot afe aun 8
¢ &l Faa urg 4,
@ SO Rl THH|
TH 96 g A/ @,
gRe U Ry 7 IBTE |
gate ag ft ¢ 7 3@,
ST FHTS B & 7 P,
Idc gk &I afu= Tan|
o9 AT WS R BT S,
ugd 3% 1R S 1

(20)
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e usd $9 w1 9T 82
* W9 IS BT AR G el ¢
* 9 AfH IFHR I § ST 3
o 9 U HT TE Yl
* DY Y PRI
Correct Answer :-5d s &7 A1 BT gl @

10)

Question Stimulus :-

Frafafea s o wryde ygar 39 i i3 T sgfawad u=xal § 98 fawe &1 9a9 &1

G ST SRR, dF 31T Y,
R 3ad ot afe arur 8
¢ & Faa ura g,
@ SO Rl T
TH 96 g A/ @,
TRe U Ry 7 IS
gaty= ag Y ¢ 7 T,
ST FHTS B & 7 P,
Iae gk &I aiu= Tan|
o9 Y §9S IR BT S,
Ugd fads R e 21

“@ T SR dt ATYT G IE 91d DI [$uH 58 6T 82
° PTG H
o P gy q
o I g |
© pwgfgr &

(21)
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Correct Answer :-$wl gafyd 9

11)

Question Stimulus :-
“3Aa Weg § UgEd U 3-
* 3P
°* 3
* 3q
® 3@l
Correct Answer :-3@

12)

Question Stimulus :-

o Iuert & Pl T T8 @-
o fafga
o Fgpw
e
o fwjor
Correct Answer :-fjor

13)

Question Stimulus :-

"I XIeE DI AP g & 1T MU {59 yeag &1 7T H30?

° P
3
° 3
° 3
Correct Answer :-311

14)

GET IT ON
Google Play
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Question Stimulus :-
fFafafEd # @ S19-91 T vy 9§ §971 82

o Iudaa Tt
Correct Answer :-3udad 9

15)

Question Stimulus :-
fagma-f® &1 orf 3-

o WuH R

* wHT P

o Ted R

o Ofr R
Correct Answer -3¢ Tf®
16)
Question Stimulus :-
QUHES BT HeTaw BT o ¢-

* WH G

o FHUH R

o 3d Hiffrd F g

o e dm
Correct Answer :-3cdd Hifia 3= g
17)
Question Stimulus :-

(23)
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"B I S & fe Suge e e
* W {P THARN &
o fire} Jem
o Rrdt-frgt 7w g
o Tefoar 7 ST
Correct Answer :-fgi-fugt @ g

18)
Question Stimulus :-
fad ma areiw & g U@ W= @1 ya Sife-
w3t gitwa | fuan frear
° g™
o giam
o gifer
© giw
Correct Answer :-gf¥a
19)
Question Stimulus :-
3iferqfy” wreg 3 g ATt &1 T Hfe-
o i faarR H
o Jaftre quf g
o 3f® @ g
* 3P A F
Correct Answer :-3@f® auf g
20)
Question Stimulus :-

o ufea § o9-491 9 &-
(24)
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e T
Correct Answer :-dUrg

21)

Question Stimulus :-

o dfeeal § s-a1 9§ 2

“HTE YA 3T BRI, %98 Il S¥RY Sifor fagr|
R AR® Wifae amun, I F1o Higle TE =TT

* HRSI

. du

o T

o T A FIE T
Correct Answer :-37# ¥ $I3 78!
22)
Question Stimulus :-

CANCELLED
PIOC IR E ReC IO - A 31 Joft & ama 1

(29)

GET IT ON
Google Play
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e TTH A HIS o
Correct Answer :-dUIR® U7

23)

Question Stimulus :-
g o ¥ g ad=t &1 9uq Fifore-

o TR
o fRur
o af
* quunm
Correct Answer :-gyun

24)

Question Stimulus :-
g ¥ § eI Tt &1 Tud Fifone-
* HTSHR
. IRY
o Y
* IUNS
Correct Answer -4t

25)

Question Stimulus :-

AR Wt BT F 8-
o foEgd
o 3mredT
* PEUAUQG

®* qEASH

(26)

GET IT ON
Google Play
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Correct Answer :-fagd

26)
Question Stimulus :-

TR WTYT T gaRT - B-

Correct Answer :-93m=h

27)

Question Stimulus :-
g o @ deil &1 vafgarh 98 2-

® 3TUim

Correct Answer :-azfor

28)

Question Stimulus :-
‘i Fa A & feaer yafgarh 3-
o T
* TS
o fira
* gfe
Correct Answer :-gfgdar

29)
(27)

GET IT ON
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Question Stimulus :-
"3’ FT TAH T 8-

* I

° J3&™

* 3M®Id

* ITigH
Correct Answer -3
30)
Question Stimulus :-
WY’ BT Togd T 8-

o iy

LI )

* dgl

* W3
Correct Answer :-93
31)
Question Stimulus :-
T’ 1 AR fAde 8-

® T+ 3Ed

* T+3[A

* TH+ 3

* TI+Td
Correct Answer :-T%+3[d

32)

Question Stimulus :-

(28)

GET IT ON
Google Play
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TR ® ygad OfY #b-d 82
° wqfﬁ'
&

T |y
gfs «@fY
Correct Answer :-gfs |f¥

33)

Question Stimulus :-
WfY & fpaa W g &2

° q

o dF

e IR

* UT
Correct Answer :-i{¥

34)
Question Stimulus :-
fru faf@a 6 areiz # & wyw T siftw Ff¥a ¢, A9 o T ww A Falya i
(1) Tt Rigm 1
() €1 91feT 5 &
() ¥ 7@ P qUT 301 WK B
() 3T IRR DI 3BT et
(9) wuw et g
(6) ¥IG 9 T¢ ST 9& |
* IFIT

® qUdv

® gdxd

(29)
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e ¥YdAT
Correct Answer -39 dv

35)
Question Stimulus :-

o g %) Sfua Hu A orafRa Fifsme-
(@) g & Jmat T TE wwen

(}) T & forg farey &R ARTIOr

(@) MRF B1a B IRAUF raw &

(@) | W wge grar ot afee

e WYTY
e Y®dY
e gAY
® gAIT
Correct Answer :-43d 9

36)

Question Stimulus :-
S HRT A fPaq PR &1 Iww fHar 82

.« 3
e IR
e T
* 33

Correct Answer :-IR

37)

Question Stimulus :-

YT BT T& 9%’ T & PR §-
e IUHT

(30)
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o T
* ¥TUD
* TP
Correct Answer :-FU&
38)
Question Stimulus :-
g o ¥ 3 arew Bifee-
o TN AR, ¥ g g3 o= §
o gu W3 d, & U ga o F
o # g W4 §I
e AW AR
Correct Answer :-ga ® fir3 g1, # g8 @g oHar gl
39)
Question Stimulus :-
o § & g arew oifee-
* S S UeT I F
* WU Sl Ugl W ¢
o AU Sft UeT & &
* AP Sff Ugrd &l
Correct Answer :-39% sft uer 78 ¢

40)

Question Stimulus :-
o dfeal &1 deor Hifre-

TR &1 oI ot enf smarft - smedt & O3 = T8 Ryaman 9t ol o wed € - 9t v wuE {1 sad #t
muﬁ%‘%mﬂaﬁwaﬁ%@mﬂ%mﬁaﬁ%‘lwwﬁwﬂg&?wmﬁwmaﬁi

D! TN W GUFH T &1 S9P 79 | I8 T 81 @ral @ fr 39 «d &t ' g
3RY B far a B IRESMA B ATt 31 IR W eFw ot g1 Wit enf uew gy A e ) dUR ed
Y CHIISC BT Y T - $o @l A

31)
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o ASHI-ASH! UPH A

AWES o Rramar U # R T@A 1
o IRPR IR P
o IR
Correct Answer :-Awgd gl RI@m T 3109 § &R 7@

41)

Question Stimulus :-

38 A PH-a1 fApd arat f41 Al ¥ @t ave o @2
° WER
* HETER
o TYART
e Tda
Correct Answer :-9g[@dR

42)

Question Stimulus :-
CANCELLED

e & & R T F1 AT g -

Correct Answer :-&19d

43)
Question Stimulus :-

‘=it ¥ Riv e e @nm-
o IFHRd

(32)
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* AT
o U | BIg TE
Correct Answer :-3afd

44)

Question Stimulus :-

‘Siea’ o1 fadw 99 9§ 781 &-

* YRSR
Correct Answer :-%fca

45)

Question Stimulus :-

GET IT ON
Google Play

STET gt & T1fa Sifaw U @ @ faR & aR ueen ge WY, g frw favmfis &1 waiw g @8-

* Yo®
* 3&XU
o JUfRTH
o guf R
Correct Answer :-7uf R

46)

Question Stimulus :-

a1 weree & IRgdar w19 82
o Hef¥ dqam
o TEf dga
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o greHife
Correct Answer :-ugf¥ dgaa™

47)

Question Stimulus :-
‘WiRRIaRiy’ frast =T 32

o paufd Ay

e firEric™

* PN

o FUMRETHt
Correct Answer :-=UiarH!

48)

Question Stimulus :-

. A%
® HFUI
* B
* WIHD
Correct Answer :-&&0l

49)

Question Stimulus :-

Iefta & gafe e fay & Faver g @ Q@ s 2
* HgIedl aHf
o gl Ua
o wia AUt fFRren

(34)
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* SUYH UHIG
Correct Answer :-ggiedl aaf

50)

Question Stimulus :-
“gled B g ~ AT THid! & e g 7 q $4 82

o fauw[ guTHR
o IJUSATY ‘3’
o HHA TEIE T
o S IWpUR qut
Correct Answer :-3i. IMFHHAR Taf

51)
Question Stimulus :-

g & 9 frg wer A Jaifve I9ER 13 yeilRe gd 82
° R

Correct Answer :-Hum9

52)

Question Stimulus :-

gl &1 93 Sw -

“Ugd gdt §1 YR 4, 99 9 AR 3E § UgN! ate uuiAT, 3| | 98l AR

® JTHI

U&! Hedt

UhT el

gt
(35)
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Correct Answer :-Us! Acal

53)

Question Stimulus :-

o ugelt ®1 w6t SR gfe-
"I Fadl o, gY Usdl S|’

o MY
* HFE
* JFPI
o HYFL
Correct Answer :-a3@!

54)
Question Stimulus :-
‘ggsiife’ BT Y a1t fazAwor ghm-

* 4+ H+E+T+I+3+T+3

® 4+ H+T4+F+T+J+5+T+3

® §+ A+ T+ +T+IJ+5+T+3

®* §+ H+T+I+T+J+5+T+3
Correct Answer :-§+ d+§+ 3+ T+ +3+8+3
55)

Question Stimulus :-

g6 gad e a9 foraT wirar g, wia-

o oo | ‘3T’ P HET B 2

o A 3 FI HTEAT FE) Bt
o Fod Yo o J&pd HTNT BT gl

* Tdd gad e U4 T ©9 H 71 gl

(36)
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Correct Answer :-aw9 & '3’ &1 =T I8! gidll

56)
Question Stimulus :-
T -3TaTE T T Wt arf gh-
* ITHIS TeAT-AHRID HF
o FHRT HE-WI aB
* INHRIH TeA-URI aF
o T A I T
Correct Answer :-3T&RH® ge1-IRl ad

57)

Question Stimulus :-
u & @ 915 T g GuRGg T8 8, 99 Bifre-
* 3TIR-IATHR
* IH-3THA
® -3
° T3
Correct Answer :-3{Tgl-3%Rd

58)

Question Stimulus :-
¥ 9 "Rz 3 & guEnrlt T &1 wue Fifoe-

o WBTAEr
o IqaaAdm
o SreEfrRar
e dRdl
Correct Answer :-Xdmmdr

59)
(37)
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Question Stimulus :-
Frafafea aa o 3 Y@ifed g & Jumnd e o1 997 Sifoe-
“ag WIME AT F 37 &0 99T § 59 TR wdem &1 aurt sem”

o I
o g
. ¥
o faifaa
Correct Answer :-fifaa
60)
Question Stimulus :-
o & ¥ g5 99 T SaeRT Tl 6-
o dlarar
* YD -HeATUDT
o =UHl-TwT
Correct Answer :-flarisR
61)

Question Stimulus :-

fwifea & & ®19-91 ug sreadtHE AN 72
o JSifcregdur
o ITARFIA
o ferrReA
o VAT
Correct Answer :-fagargfea
62)

(38)
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Question Stimulus :-

“FomaTRT Mg fFT THTH BT ISR 82
* gg 9YHN
* TUEY JHATH
. g wH
* FHYRT THN
Correct Answer :-ggsiife G0

63)

Question Stimulus :-
o a1l ¥ & Jgaa are 1 99 Bifie-
* WY 3D ¢l
o % @I @I
o Tt oS ol A oft 3D B
o T A P T
Correct Answer :-3 4i 3/ § 3R 3 +ff 3= &

64)

Question Stimulus :-
o & ¥ 419 ar=g ghm-
* Ho & TP Ul Tl
® 3TY T MY
o Jail-t A AT LI STl
o T A IS Tl
Correct Answer :-Hel-l & gHT 81 SIral

65)

Question Stimulus :-

UTfSy &Y g1 &A1 & fore Suged v 8-
(39)
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® Accept

Acceded to
® Acknowledge
T 9 BIS T8I

Correct Answer :-Acknowledge

66)
Question Stimulus :-

‘Suo motu’ < FT IAIE 3-

o JfHURUm
Correct Answer :-WuRul

67)

Question Stimulus :-
g€ AU T8 IR R At 1 @ ok 32
o ¢ YV HIY HIA A T8 SSdr
o ffar Bist, g@ ¥ foran
o IHUM & 1Y W= &l T =Ry
o IHPUM § WM W HY T A g 3
Correct Answer :-J&aH 8 9 R HiY H3-1 o9 giar @

68)

Question Stimulus :-
HHIA YT T, IS AW arar dwifaT &1 T 3 82

o MY =afdd Had T R fiwrad) 38 wd #=d §

(40)
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o TRyt @R FHTG T SR M I/ T FRA T
e pAMg R TR M TI P &
* T A P Tl
Correct Answer :-TRyH @1 $HA 7 3R WP I8 T Ied 3

69)

Question Stimulus :-
‘Zoff @Y g Ht arr & st ere A deifeT &1 @ o 82

* DI QY T
o Fret 7 g
* FHATS! BT BTH HIAT
* IPR T
Correct Answer :-@Teft 7 g1

70)

Question Stimulus :-
" Bid fHa qe8 F wRaRt &ia A2

* deR
. e
o mgeTRl
* IPW
Correct Answer :-3@av

Topic:- General Knowledge
1)

Question Stimulus :-

The well-known book “The Rediscovery of India” has been written by— / WRis &® g Rfswwadt 3w

3f3ar &) 39% gR forr an @:
® Meghnad Desai / ﬁ‘EIT-I'I'q’ aﬂlﬁ

(41)
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® Vikram Seth / ICEZ: K]

® Anita Desai / 3T aﬂ'lé

e Arundhati Roy / 3f5%dl 34
Correct Answer :-Meghnad Desai / AYAIE TS
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

= foT T Fel F YR W LY IR FT IUT HI Ta fAan:

List-I List-1I
1. Bihar a. Mumbai
2. West Bengal b. Thiruvananthapuram
3. Kerala c. Kolkata
4. Maharashtra d. Patna
-1 gfa-11
1. fagR a. 4ag
2. uffy Sma b. fava-iazya
3. &R C. PIaPHTl
4. HERTY d. gen

® 1-c, 2-d, 3-b, 4-a

® 1-d, 2-c,3-a,4-b

® 1-d,2-c,3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is the source of all the energy on Earth? /q&ﬂ TR A Sl $T Hid T %?

® Wind Energy / dIg el

(42)
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® Gas energy / T St
® Solar Energy /AR St
® Water energy / SI¢1 SHelt
Correct Answer :-Solar Energy / TR et

4)

Question Stimulus :-

Electric bulb filament is made of ./ ﬁg’fﬁf dcd &I dg

® Aluminium / Q’Fﬂﬁlﬁ'ﬂ'ﬁ

* Tungsten / STRSH

® Lead/ Idrr

e Copper/ GICL
Correct Answer :-Tungsten / ¢IRE
5)
Question Stimulus :-

The moon is a ./ X TH

® Satellite/ 3UUT

® Star/ dIRT
® Planet/ U8
® Sky/ THIRA
Correct Answer :-Satellite/ 39Ug

6)

Question Stimulus :-

i

2

GET IT ON
Google Play

What is the main cause of movement in the earth’s atmosphere? / t{@ & qgHsd T Hga &1 HE SRUT AT

8
® Difference in a air pressure / dIg & gad ¥ 3R

® Difference in temperature / dTUHIT 3R

(43)
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® Solar Energy / TR St

* Wind / 9
Correct Answer :-Solar Energy / 9R &9t
7)
Question Stimulus :-

Which of the following states is NOT on the border of Himachal Pradesh? / ﬁ'ﬂ' s | ﬁ' aﬁq T MY

fenmarer wew &t e 1€ 82
* Jammu & Kashmir / STH] 3R HR
 Punjab / USIld
e Uttarakhand / 3<IR[EUS
e Rajasthan / ST
Correct Answer :-Rajasthan / XTSTRITA
8)

Question Stimulus :-

Sabarimala Ayyappa Swamy Temple is located in which State? / AT W IaTH HidR fhe g |
R 3?

Maharashtra/ HERTY
Andhra Pradesh/ 3Ty U%QT

Kerala/ 3d
None of the above/ '&"-'-I'ﬁ I aﬁé :r(ﬁ

Correct Answer :-Kerala/ W

9)
Question Stimulus :-

Which of the following States abounds in Black soil? / Frafafea w=ai 4§ 3 fFad st ﬁl@ 3| UgRdl 4

® Andhra Pradesh / Gﬂm

® Gujarat / SRTd

(44)
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® Madhya Pradesh / AR

® All of these / T goft
Correct Answer :-All of these / T |t
10)

Question Stimulus :-

The National Animal of Bangladesh is/ ET’FH%'SH Cal ?’I‘Q’I’q g %
e Lion/ Rig
e Kangaroo/ ®R=
e Cow/ T
* Bengal Tiger/ ST CI3TR
Correct Answer :-Bengal Tiger/ S7d 3R
11)

Question Stimulus :-

Find the odd one out / fawd ®T g1 o
* West Bengal/ a3¢ §TTd
® Tripura/ ﬁtm
® Nagaland / arTds
* Gangtok/ TTEI®
Correct Answer :-Gangtok/ TTTel®
12)

Question Stimulus :-

Which of the following states is on the border of Arunachal Pradesh? / g ¥ @ &9 91 I RS

TR Y AT 72
®* Manipur /Hfa'l'g?
® Meghalaya / AuTery

e Assam / 3HH
(45)
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° Bihar/ﬁ?ﬂ'
Correct Answer :-Assam / 3qH
13)
Question Stimulus :-

How many times has Brazil won the World Cup Football? / STSTel < Pedid &1 fay ®9 fha-l IR Sitar g2
* Twotimes /Gl IR
® Three times / a4 IR
® Four times / dR dIX
® Five times/qwﬁ dR
Correct Answer :-Five times / Uid R
14)

Question Stimulus :-

Find the odd one out / ¥SIIg @W FreTen
* London / €igd
e Jamaica/ STHPT
® Poland/ tﬁ'ﬂg
® Sudan / g™

Correct Answer :-London / ©¢q

15)
Question Stimulus :-

The most salty sea in the world is . / fay &1 a9 @wt 9% _%I
® Red Sea / 9T IR
® Dead Sea / HJd IR
® Arabian Sea / SRd IR
® Mediterranean Sea / YHY - IR

(46)
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Correct Answer :-Dead Sea / Jd IR

16)
Question Stimulus :-

Who is the oldest Indian to score an ODI hundred? / THeailg Ya® g4 add Jad A
faarst «19 82

e Anil Kumble/ 3fd $aa
® Sachin Tendulkar/ Tfe aw
® Sunil Gavaskar/ '\ﬂ*ﬂﬁ TN

® Kapil Dev/ H‘Tﬁ?léa

Correct Answer :-Sunil Gavaskar/ g1l TTARD

17)

Question Stimulus :-

Who won the men's singles title of 2016 Wimbledon / 2016 fdgasT & gy e Surfy &t foeam sftare
® Roger federer/ AR R
 Novak Djokovic/ d® SIIHITIH
e Rafael Nadal/ Jhd ASTd
® Andy Murray/ E:?r mw

Correct Answer :-Andy Murray/ TSI W

18)
Question Stimulus :-

What was the legal name of Legendary Boxer Muhammad Ali? / fere TR HeHq 3reft o1 fafte =ma <
Yr?

® Muhammad Ali / GgWG 3cit
® Mike Tyson / HIS®P <IOdA

e Cassius Clay / IR =
® Lala Ali / 9dT 3feft

(47)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Correct Answer :-Cassius Clay / S99 &

19)
Question Stimulus :-

Which one of the following sports has been included by the International Olympic Committee in 2020 Tokyo Olympics?

/@Wmm,zozomm%mmﬁﬁm@aaﬁm&mm
T 3?2

® Sports Climbing / @iﬂm
® Surfing / it

* Softball / HIUC T

® All of the above/mﬂﬁ It

Correct Answer :-All of the above / SURTad TH}

20)
Question Stimulus :-

series has celebrated its Silver Jubilee on April 2016? / m 30 2016 § 3T
ISTd SGdl {ATA |

e Hockey India League / gi®1 sfear dh

e Sultan Azlan Shah Cup / g« 3@ WG U
e Premier Hockey League / WIFAR gTd! AT

e Asian Hockey Championship / SR gt Afmm=fm

Correct Answer :-Sultan Azlan Shah Cup / g« 3fGe E $U

21)
Question Stimulus :-

This famous person led the March on Washington for Jobs and Freedom in 1963

39 Ui safdd 3 1963 ® eRAl o Wa—aar & g aiiXired ¥ @ &1 Aqa foar an
e Abraham Lincoln / GIEITETTﬁiW

® George HW Bush / STt Th S qA
® Martin Luther King Jr. / ATf¢ qUY fam \_{[ﬁﬁ:ﬂ'

(48)
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® Richard Nixon / g A=
Correct Answer :-Martin Luther King Jr. /mﬁ:l' qA e \_;-Lﬁ'q'{
22)

Question Stimulus :-

Find the odd one out / fauy &I 19 o
® Toyota/ erIer
* Nissan/ f=m=
* Royal Enfield / 39d TAWIcS

* Volvo /diedl
Correct Answer :-Royal Enfield / J19d TWIcS
23)
Question Stimulus :-

The head office of State Bank of India is in / YR ¥}T dF DI HETdq %
® Bangalore / UK
* Delhi / fewett
* Kolkata / PIA®Tl
® Mumbai / 'ﬂﬂé

Correct Answer :-Mumbai / &%

24)

Question Stimulus :-

Which of the following States leads in commerce and industry? / 3=I'Ef ¥ arforey 3R I H 3rvft Isg A
8?

® Maharashtra / HgIRTY
® Tamil Nadu / AfI@ATg

® Uttar Pradesh / 33} 'Q%QT

® West Bengal / Ufyw S
(49)
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Correct Answer :-Maharashtra | HEIRTY

25)
Question Stimulus :-

Which of the following persons got both the Nobel Prize and Bharath Ratha Award? / SE]
# A frg safdt & 9 PR 3R YR ¥ OB R giH fira 82

® Mother Teresa / HGI el

¢ M.K.Gandhi / TH.®.Te

e Atal Bihari Vajpayee / 3l fasrY gt
® None ofthese/'{'_'l'ﬁ g ?ﬁ'a‘ 7‘|'Evpf

Correct Answer :-Mother Teresa / HGY CEL: ||

26)
Question Stimulus :-

Who among the following is Father of Economics? / g H oI I F 5P F U H 1 ST %.,?
® Aristotle / 3R]
® Aryabhatta / GHﬁq-IET

e Adam Smith / TSH &1y
® None of these / Etlﬁ I aﬁs‘ qﬂ

Correct Answer :-Adam Smith / T8H &9y

27)

Question Stimulus :-

Who is known as the father of India's space programme?/ YR 3iafves TdwH & FH® & U d fHas!
ST 7T 32

® Dr Vikram Sarabhai / ST fI$H TRTHTS
® Dr APJ Abdul Kalam / ST QUISl 3fegdl HaTH
® Dr. K. Radhakrishnan / ﬁa?ﬂwmﬁ

® Dr. Shanti Swarup Bhatnagar / ST Yifd WY HeANR
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Correct Answer :-Dr Vikram Sarabhai / 31 fashH TRTHTS

28)

Question Stimulus :-

Professor Amartya Sen is famous for his contributions in which field? / MHER 3Hdg I fore ?3_9[ H 3=
hTe & e uRrs 72

® Agriculture / Tﬁf

® Sports / Td

® Culture / '\‘Rq?ﬁf
® Economics / kb P

Correct Answer :-Economics /ar%fsm

29)
Question Stimulus :-

Who wrote the famous document ‘The Communist Manifesto’ along with Karl Marx? / GAL HIpd & 91y

fram wfis qwamaw € sxgfRe Al i 32
® Friedrich Engels / SR® Tied
* Alfred Marshall / I@hs ATRIA
® Lenin /@A
* Joseph Stalin / SN¥® Te

Correct Answer :-Friedrich Engels / FSf¥® T

30)
Question Stimulus :-

Who is known as “"Nightingale of India”? / YHRd P Fifpar & 9 A fFd SHT S %?

e Barada Sundari Devi / gl gad ¢dt

® Jhansi Rani Lakshmibai / ?ﬁﬁﬁ&‘:ﬁaﬁ
* Maniben Patel / HfET wd

e Sarojini Naidu / IRIfSFI ATag
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Correct Answer :-Sarojini Naidu / WRIfSHI TIg

31)

Question Stimulus :-

The capital of Australia . / Siiecferar &1 Ieur gl
e Sydney / fas
e Melbourne / 3aaH

e Perth / 7%

e Canberra / &I
Correct Answer :-Canberra / a1
32)

Question Stimulus :-

Who was the first woman Chief Justice of a High Court in India? / HIRd A I gHATad P UYH 'FI'%?IT Hq
i s A2

® Justice M. Fathima Beevi/ STIRe WTfaHT et
® Justice R. Banumathi / SIRed 3R ‘J-I'Ia'qﬁ
® Justice Leila Seth / Sy didr 9

® None of the above / 3'=|1?r I aﬁ's‘ qﬁ
Correct Answer :-Justice Leila Seth / & oidl A5

33)
Question Stimulus :-

How many terms can a president serve in the United States? / Hged 357 3MR®T # Teh Agufa
Pt aR fFrgea 8 Jwar 82

e 1
)
.3
.« 4

(52)
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Correct Answer :-2

34)
Question Stimulus :-

NITI Aayog has set the highway network target for 2016-17 at / NITI 3TORT 3 ISR TR 833[

2016-17 & fore ag far
* 76,372 km / 76,372 et
* 66,302 km / 66,302 frt
* 86,372 km / 86,372 fpft
* 56,684 km / 56,684 fopft

Correct Answer :-86,372 km / 86,372 fH}

35)

Question Stimulus :-

Foremost investigative Agency of India is called as / WRd @1 3rroft g TSl Bt del SIrdl

?
e NIC/ TH3TSH
e (BI/Hdtamg

o CIA /JtTgT
e DIR / SI3ATSIIR

Correct Answer :-CBI / Hidt3mg

36)
Question Stimulus :-

Who was the first Governor-General of India?/ HTIRd & tl?ﬁ TIHT'[T S Rd BT A2
® Sir John Macpherson / X ST ApmH
® The Earl Cornwallis / 3ref P arfery
® Warren Hastings / aﬁ? m
® The Lord Minto / @IS f¥cl
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Correct Answer :-Warren Hastings / GI% g%t

37)
Question Stimulus :-

In which year Indus Water Treaty was signhed between India and Pakistan? /

YRA 3R ufpwa@ & S R 9a I R svaer fra af § gu 32
* 1960
e 1964
* 1948
e 1955

Correct Answer :-1960

38)
Question Stimulus :-

Where is the ISRO headquarters situated? / ISRO BT AT ﬁ‘f R« %?
* Mumbai / &%
e Chennai / 398
® Bangalore / TR
* Kolkata / PIPIT

Correct Answer :-Bangalore / ST@AR

39)
Question Stimulus :-

What is the strike range of Prithvi-1l missile, which was recently successfully test-fired by India? / W-mm

o1 Afads drur & 3, ForaeT g1a & § Twaargde HRd gRT usterr fHar ware
e 150 km /5. HY.
o 250 km / fop.HY.
* 350 km / fb.#Y.
* 450 km /5. 4.

(54)
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Correct Answer :-350 km / fo5. Ht.

40)

Question Stimulus :-

The headquarters of World Anti-Doping Agency is located at ./ ﬁ%{ SiftT e Eﬁ?ﬁ Caj
T o fR gl

e Sydney, Australia / &, e ferar
® Montreal, Canada / Tﬁﬁ'ﬂ?{, CRE
® Geneva, Switzerland / foTaT, m

® Washington DC, USA / QTiRiTTe Stl, guaT
Correct Answer :-Montreal, Canada / Hif~eqd, FAsT
41)

Question Stimulus :-

Which country's space agency has released a rocket motor test video in extreme slow motion? | fra

< F 3fafver sfhewor A srafye R wfar & gemara Wdbe AieR ¢ difsar o1 9= fFar g2
* Japan / SITUT
e USA/JUHT (3MAT¥HI)
® China/ 99
* India/ WRA

Correct Answer :-USA/gu3U (3A®T)

42)
Question Stimulus :-

Who has won the 2016 Global Indian Award of the year / T 2016 BT Tdad ST R¥PR fHaA sftar 82
® Shahrukh Khan / RMg&W W
® Aishwarya Rai Bachchan /Q’H’Cﬁ MY I+
® Akshaya Kumar / & PHR
® Kangna Ranaut / BIEAT AT

(59)
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Correct Answer :-Aishwarya Rai Bachchan / RYaf 319 S=

43)
Question Stimulus :-

Tha Sangeeta Ratna Award has been instituted in memory of WA UCEL| RIPRY

@t wfa & wfe forar mr @

® Ustad Rashid Ahmed / 3&ITg TI'&'IT:{ 3HeHq

® Ustad Bismilla Khan / 3¥dTq ﬁﬁm ECIG)
 M.S. Subbulakshmi / TH TH gegagH

® Pt. Ravishankar / ufea Ifaeiar

Correct Answer :-Ustad Bismilla Khan / 3%T¢ fafeag @™

44)
Question Stimulus :-

Who is the author of the book “Anubandh”? / & " 3Jde" & AP DI 82
® Chetan Bhagat / Jqd9 M

® Suresh Menon /W 94

® Arundhati Roy/WEﬁ X

® ElaBhatt / ¢l HS

Correct Answer :-Ela Bhatt / Sl Hg

45)
Question Stimulus :-

The tropical cyclone 'Roanu’ has recently hit in May 2016 which country? / g
& ¥ Suimsfedda awpara “Isg” A U5 2016 # fd 31 B wnfaa fosan ur?

® Japan/ SITUTA

® China/ 99
e USA / qET

® India/ HIRd
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Correct Answer :-India/ HIRd

46)
Question Stimulus :-

Which state announced the first ever ‘Water Metro Project’ in the country? /

P g A 3 F Uz diex A! Uisie ST UIHUT B
e Andhra Pradesh / 3fi$J =T
e QOdisha / 3NfS=m
* Kerala /A

® Maharashtra / HEgRI

Correct Answer :-Kerala / 3

47)
Question Stimulus :-

Which among the following countries is NOT a member country of SAARC ? / fFrafafaa o @ sF-ar
HTeh BT TG 3 T8 87

® Bangladesh / IR
® Maldives / ma'cﬂa

® China / iG]

® SriLanka / PIREQ

Correct Answer :-China / 99

48)

Question Stimulus :-

CANCELLED

Which day is observed as the World Diabetes day?/ fay ayfg feaw &9 w41 w17 82

o 14th September/ 1491 fdwR
® 15t November/ 1 al Java

o 24th November/24 al FarR

(57)
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o 2gth November/28 al Fawx
Correct Answer :-24th November/24a'cf' AdER
49)

Question Stimulus :-

Actor Salman Khan of Bollywood fame was born in / ﬁ?ﬁg@’ & m AT IaHE @ BT 5+ ﬁ}f
BT UT?

e Indore / %R
* Ujjain / 3=
® Rewa /4l
 Chambal / A
Correct Answer :-Indore / 3R

50)

Question Stimulus :-

What is Betul famous for in Madhya Pradesh? / qm & a'?i?l' s | m T %?
® Manganese / A
® (Coal reserves / HIgAl SR
® Bauxite / TSITW'E?
® |ron/ FﬁET

Correct Answer :-Coal reserves / PIIAT HER

51)

Question Stimulus :-

—13 -5 —13 -5

The additive inverse of X & g -————=—————- ./ =x 8 GRSl yfdei T g |

65
o _200

65
e 200

(58)
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13

e 40

200
e 65

65
Correct Answer :--200

52)

Question Stimulus :-

-3 -15 -3 -15

The multiplicative inverse of 5x # is/ 5x & / & UAHS UREH 2 |

45
e 40

8
Correct Answer :-°

53)
Question Stimulus :-

When n = -3 the value of n (n2-7) = (choose the right answer and fill up the blank) / SId n =-3 %, n (n2-7)

B AFE=___ (WE SR g Sk Fad v ulkd)
e 48
e -6
e 6
e -48
Correct Answer :-- 6

54)

Question Stimulus :-
(59)
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There are two circular fields with a radius of 9 ft and 12 ft respectively. A pitis
dug around the centre of each field with a radius of 3 ft. The pits thus dug will
have the same and / < 3 &=
g Rt Bur wusn: 9 e 3k 12 Be 3. Td® 89 & fré uap 1571 Wil a1 forast st 3 we 8. sm:
Qe T T P HH IR Hull

® (Circumference / gfefer

® (Circumference and area / af¥f¥r ok éﬂW

® Circumference and volume / gfefdr Gﬁ'\" NICGE)

® Circumference, area and volume / tlﬁﬁf, eam 3R 3mgdd
Correct Answer :-Circumference and area / UIRfY 3R Amd
55)

Question Stimulus :-

The diagonals of a parallelogram ABCD intersect at O. A line through O intersect
AB at Xand DC at Y. if AB = 10 cm, AD = 9 cm, and OX = 5 cm, then the length
of OY is / TR agys ABCD & fawul 0 W ufasdg a2
O ¥ TH IWT AB &I X U 3R DC &1 Y R Ufassg wedl g1 afe AB = 10 I, AD = 9 9}, 3ilROX = 5
It g, @ oY B W= B

® 4cm/ 4 9+t

® 6cm / 6 It

® Scm/ 5 I

° 7cm/7@Tﬁ

Correct Answer :-5cm / 5 9Hl

56)
Question Stimulus :-

Y = 30 + 5m. The value for this equation to be plotted when m =0, 2, 4, and 6
is / Y = 30 + 5m. 59 GHIH0T & AH P Wic HATE Fd m =
0,2,4,3R6%

e 30, 40, 60, 70

® 30, 50, 50, 70

® 30, 40, 50, 60
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® 40, 50, 60, 70
Correct Answer :-30, 40, 50, 60
57)
Question Stimulus :-

What is the height side of a cube whose volume is 729 m3? / & 99 &1 $d15 |12
ST 3maas 729 W3 82

® 13m

® 17m

® 9m

® 10m
Correct Answer :-9m
58)

Question Stimulus :-

What is the height of the cuboid whose base is 13 x10 cm and volume is

780cm3? / uaTH Y Sarg a1 eNft ORIt SMUR 13 x 10 IV 2 3R 3maad 780 A3 22

® 6cm

® 3cm

® 60 cm

® 20cm
Correct Answer :-6cm
59)

Question Stimulus :-

If 35% of a number is 700 , how much would be 50% of the same number / 'QTI% foreft = &1 35 ufa=d 700
2, a1 3t W@ &1 50 ufawe fHaar grm?

® 2000
® 1000

® 3500
(61)
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® 1400
Correct Answer :-1000
60)

Question Stimulus :-

A spinning wheel has 10sectors and number 20 is marked in 5 sectors 0 in 2
sectors10 in 2sectors and 100 in the rest.What is the probability of getting a

sector with 20? / T& TRW & 10 3GES § AR FBT 20, 5 IJ@s! # fAfFa g1 2 s@Esi F 0, 2
TGS | 10 3R ITHI & 100 20 F WS 3 BT FUIGHAT FT 82
° 1/10
° 2/10
° 1/4
* 5/10
Correct Answer :-5/10
61)
Question Stimulus :-

Which of the following has more energy? / 5 & & foad sifte et 82
e Microwaves / g&a a3
e X rays / uad fHui
e Radiowaves / ¥fsat a3t
e Light waves / u&m= @&
Correct Answer :-X rays / Taq forul
62)

Question Stimulus :-

Pick the INCORRECT statement among those given below :8g of Methane and
16g of Oxygen will / R RT 7T Hy=1 & | Tad HYF T g1 H1 8 UTH WA 3R 16 UH
SRt |

® Have same number of atoms / W’Ujéﬁ B =T AT Eﬂ"ﬂ

® Have same number of molecules / GFUJGP[ @ H=IT IHE 'Eﬂ'lﬂ
(62)
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® Occupy same volume at S.T.P. / Qﬂiﬁtﬂ H U maaH EﬂTIT

® Have same number of moles. / e o =T JHH Eﬁ"ﬂ

Correct Answer :-Have same number of atoms / GRHTU[SMT &Y HEAT FHTH H1t

63)
Question Stimulus :-

The work to be done to stop a car of mass 1200 kg and moving at a speed of 36

km/h is / 1200 & goaHM 3R 36 fFHi/ 902 B I1d A I G PR B AbA & T S BT g

® 60000 N
® 60000J
® 6000)

® 777600

Correct Answer :-60000J

64)
Question Stimulus :-

CANCELLED

Figure shows the distance-time graph of two cars A and B moving along a straight road. Which of the following

statementsisWRONG?/aTlﬁWﬁaﬁAGﬁ?BW@-WWM%W*W?‘}@W%W
9a 381 81 9 A & I |1 YA T 82

[FIETETE ST ST
Pl
T
I

—
&
T

1 ] ] 1

1 2 3 4
—* time[minutes)

® Car B starts its journey after car A has started / BT B 30 T R A & = A P qIG = Pl B

® Car A moves faster than car B / PIR A, PIX B 3 STql ?ﬁf qJadl %

(63)
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® Car B overtakes car A/ DPIR B, PIX A &I mﬁ?ﬁ%
® Car A moves at a speed 30 km/h / PIR A 3ofpHi/ae & AT W) Tad! %

Correct Answer :-Car A moves faster than car B/ ®IR A, PIX B b3 | SAlql aTrT It %

65)

Question Stimulus :-

Separating funnel is used to separate /m Iy Ca) Yy 31 | TR i?l_cﬂ %I
e Miscible liquids / fagdita sa

* Immiscible liquids / 3If¥%oia g9
® Insoluble solid in solvent / fa@Ta® & rg-=ita a1
® Soluble solid in solvent / fa@Ta® ¥ ga-=ita 61

Correct Answer :-immiscible liquids / IO &g

66)
Question Stimulus :-

The water kept in an earthen pot becomes cool during summer due to / T gt
& Fd # @ gaim urt Tt & Qe & HRUT ST §7 38T &

® Diffusion / faa=on

® Osmosis / URTHRUT
® Evaporation / AT
® Condensation / H9

Correct Answer :-Evaporation / AT

67)
Question Stimulus :-

Which is the default mechanism due to which new gene combinations are occurring in nature? / dg fswiee a3

P4 971 g e s 7 o9 S0 uefa # 81 ) 82
® Asexual reproduction/ AR S

® Mutations / 11‘1\%'507'[

(64)
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® Sexual reproduction / R s=T

® Environmental factors / iRl sR®
Correct Answer :-Mutations / TSR
68)

Question Stimulus :-

Which of these is a disease of the bone, caused due to the deficiency of Vitamin D? / IGL] # A i A Eépf )

dHrt g, S faerf¥a D &t w4t & srRor g 82
® Acromegaly / Srfaeraar
® Osteomalacia / GI'@FEFIT
® Osteomyelitis / SIFRYAIT BT UST8
® (steoporosis / SRCAIRIRY

Correct Answer :-Osteomalacia / G@W

69)
Question Stimulus :-

Which out of the following factors associated with an ecosystem is Biotic? / urfefRAfT®T 93 & I1Y ﬂ% g A
q B § PR A4 82

® Quantity and quality of light / BRI BT gfREmT 3R Torga=il

® Temperature variation and availability of water / ATJHTH uf¥ad= 3T STe Pt SudsUdr
® Predation & parasitism / UXHEUT 3R GRSiifadr

® Parasitism & quality of light / WReifaar iR yehT=r B Torga<nt

Correct Answer :-Predation & parasitism / QXHEUT 3R WReiifadr

70)

Question Stimulus :-

Penicillin was first discovered by / ufafafer gduyw foras GIRT @loft 11'§ &
® Alexander Fleming / SAFSIST FATHIT
® Joseph Lister/ P forRe?

(65)
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® Louis Pasteur / gé'\:r qryr
® Edward Jenner /Eﬁé S Ly

Correct Answer :-Alexander Fleming / Jagois? TR

71)
Question Stimulus :-

Average of 2,4,6,8,and 10 is/ 2,4,6,8,31¥ 10 ®T 3T &
6
e 8
e 4
® None / aﬁ% qﬁ
Correct Answer :-6

72)
Question Stimulus :-
Average of 10 natural numbers is 28. Average of first 6 numbers is 30, and
average of last 5 is 26. What is the 6t" number?/ 10 upfas Henai o1 3iwa 28 2?1
Uglt 6 HEAS BT 3Hd 30 7, 3R Mas 5 37 ot 26 71 B T AT 7?2

e 12

e 25

e 30

e 15

Correct Answer :-30

73)

Question Stimulus :-

Five years ago, the total of the ages of a father and his son was 40 years, the ratio of their present ages is 4:1.

What is the present age of the father?/qﬁwm, 1GI &ﬁ?w%as%aﬁ S{Tg BT TN 40 9 T, IAP!
JAHT 3T BT SFUTd 4:1 81 aaAT H frar Y 3y fpait 82

e 35years/35 T4
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® 40 years/ 40 CL
® 45 years/ 45 CL]
® 50 years/ 50 Ty

Correct Answer :-40 years/ 40 94

74)
Question Stimulus :-
Fifteen years ago, Sundar was half of Pradeep in age. If the ratio of their
present ages is 4 : 5, what will be the total of their present ages?/ ugg 9@ Ugd,
X B g udty F g ot et ot afe adur A I oMy BT U 4 : 5 B, SAD! IIHN ST BT A
foa=m grm?

 35years/ 3594

® 55years/ 55 T4

® 65 years/ 654

® 45years/ 45 T4
Correct Answer :-45 years/ 45 a4
75)
Question Stimulus :-
13/17™ of 51 is 51 / BT 13/17ﬁ YT &:

e 39

e 49

e 31

e 51

Correct Answer :-39

76)
Question Stimulus :-

Five Thirteenth of 260 how much less than Eight Eleventh of 330? 260 / T uia avgal 330 ,& 36 TWREd |
fooam ow 32
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e 120
e 100
e 125
e 140
Correct Answer :-140

77)
Question Stimulus :-

What is the next expression in the series? / @1 # 3nrelt siffaafay w19 f gifi?
abbacc, cabbac, ccabba,

® cacbba

® abcabc

® accabb

® baccab
Correct Answer :-accabb
78)

Question Stimulus :-

128.57% of 84 + 262.5% of 48 + 22.22% of 27 =? / 84 BT 128.57% + 48 BT 262.5% + 27 BT 22.22% = ?
e 210
e 220
e 230
e 240
Correct Answer :-240

79)
Question Stimulus :-

13% of 300 is 300 / T 13%%:

e 39
(68)
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e 42

e 49

e 50
Correct Answer :-39
80)

Question Stimulus :-

In covering a certain distance, the speeds of A and B are in the ratio of 3 : 4. If A takes 30 min less than B to
reach the destination, the time taken by B to reach the destination will be: / Wﬁlﬁﬁl ﬁ'a CADE: T k: Y Gﬁ?'
B @1 TIfd &7 3JUTd 3: 4 31 Afe Tiday aa Uga & foT A, B & 30 e &0 da1 @ @l idea a& Uga- & fau B
I fra § 9 fpa= wwg &

e 1w / 19e

S
® < hr/ - Ycl

® 2hr/2%9el

=
b | =

A

bt | =

hr / deT

Correct Answer :-2 hr /2 eI
81)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% IR udl & ¥ &9 A1 1 A T U & UHeH JHH 81 82

Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106
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(i)

(i)

Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

(iii) Adventure Schools

E-Mail: adventure@wordkayak.com

315 7th Street, S.E.
Washington, DC 2003
(202) 546-9211
(800) 51-KAYAK

Fax: (202) 546-3106

(iv) Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003

(70)
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(202) 546-9211
(800) 51-KAYAK

Fax: (202) 546-3106

® jv
Correct Answer :-iii

82)
Question Stimulus :-
CANCELLED

The series given below contains a sequence of alphabets and numbers. Identify

the incorrect combination: / 9 & 7 s@ar & s1eRY ok @ &1 v IMferds | Tad aeH
JgdIg:

i. b93bd4ss93fs6b ii. b63bd4ss93gs6b
ili. b93bd4ss93gs6b iv. b93bd4ss93gs6b
° i
® i
® iii
* v

Correct Answer :-i

83)
Question Stimulus :-

By selling a scooter for Rs.9200, a man gains 15% .Find the cost price of the scooter? / Ydh ¥PcX P 9200 UG
" S W TP AR B 15 % BT 1Y U BT 31 Ipex ST AT Jed q1d De |

e Rs 7600 /9 7600

(71)
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* Rs 8000 / =9 8000
* Rs 9200 / 9T 9200
® None / ?ﬁg T'|'Eﬂ

Correct Answer :-Rs 8000 / U3 8000

84)
Question Stimulus :-

Find the next term in the series 4,9,16,25,

$ifil 4,9,16,25,___ .
e 32
e 42
e 55
e 36
Correct Answer :-36

85)

Question Stimulus :-

GET IT ON
Google Play

./ S@d H SRTAT US JId

Find the next term in the series 3,5,9,17,33, ./ S ® SFTer g ATd aﬂﬁm 3,5,9,17,33,

° 49
° 48
* 63
® 65
Correct Answer :-65

86)

Question Stimulus :-

Question is based on an encryption system in which: / U¥ UHURFWEIT YoITel! R 3memid &

foreH:

(1) ‘La Pit Ta’ means ‘Mango is sweet’ / ‘La Pit Ta’ &I Hddd ? *‘Mango is sweet’

(2) ‘Na Sa Pit’ means ‘Mango and Banana’ / 'Na Sa Pit’ WW% ‘Mango and Banana’
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(3) ‘Ba Ta Tik’ means 'Boy is Wise’ / ‘Ba Ta Tik’ ?ﬂw% ‘Boy is Wise'’

What is the code for ‘Banana’? / ‘Banana’ & folt 1 9IS 82
® Either ‘Na’ or ‘Tik’ / ‘Na’ 3YdT ‘Tik’
® Either ‘Ba’ or ‘Sa’ / ‘Ba’ 3(YdT ‘Sa’
® Either ‘Na’ or ‘Sa’ / ‘Na’ 3{¥YdT ‘Sa’

® Either ‘Ba’ or ‘Tik’ / ‘Ba’ A YdT ‘Tik’

e

Correct Answer :-Either ‘Na’ or ‘Sa’ / ‘Na’ 3YdT ‘Sa’

87)

Question Stimulus :-

GET IT ON
Google Play

In the sequence shown below, which figure comes next? / ﬁﬁ@ﬁ T HH § SRTE GI'IQ)'RT Cap kil Eﬂ"ﬂ?

<

%

1
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-

Correct Answer :-

88)
Question Stimulus :-

Take a look at the below statements: / 1 Y=l R TP ToR SIferd:

1. H's son is G's grandson / H BT AT G mlﬂ?n%

2. H is F's brother / H, F &1 4TS

Which of the above 2 statements are necessary and sufficient to answer the below

question: / $WR 2 YA & A I A TR UY $TIW ¢4 & foe emawus R yuid §:

If H is the brother of B, how is F related to G? / 4f¢ H, B ST 4§ g, dl F, G ¥ $1 Jafid g2
° 1

e 2

1and2/1 3R 2

Additional information required to answer the question / ¥ PT 3T} R g ﬁnz Sifafved SeR ot
ATIIDHAT §

Correct Answer :-1and2/1 3R 2

89)
Question Stimulus :-
M + N means M is the husband of N/ M + N ®THdad @ M, N T Ufd &

M - N means M is the father of N/ M- N ®THdAd g M, N & fUar &
(74)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

M ! N means M is the brother of N / M ! N T Hd@d 8 M, N &1 TS &

M X N means M is the sister of N/ MX N ST Hdad 8 M, N #1969 8
M = N means M is the wife of N/ M = N BT Hdad & M, N &1 Ual @

M @ N means M is the mother of N/ M @ N &1 Adad @ M, N &1 AT &

A =B -C! D @ E X F then which of the following must be true? / A=B-C!D @ E X Fal Ffg #

A I A1 WL AT AR
® Fisgrandson of B /F, B &I UIdT 3

® Eis granddaughter of A /E, A &1 Uit %
° E&Faresisters/EGﬁTFH?ef%'

® Ais grandfather ofE/A, E & alal %
Correct Answer :-E is granddaughter of A /E, A @1 UId} g
90)

Question Stimulus :-

Which of the following is the mirror image of the word BANDANA? / B K] Qe BANDANA BT anUT ufafar

P AT 82
. AVMAQMAL

. AVIAVIAE

AVAQAL

o AVIAUTAH

Correct Answer :- AVIAGQVAY

91)

Question Stimulus :-

A + B means A is fatherof B / A + BP®THdaGd 8 A, B & fuar &

A -B means A is motherof B/ A-B EF[HW%A, B?b"quaT%
A = B means A is husband of B / A = B ST AdAd ¢ A, B ®TUfd 8
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A x B means A is sister of B/ AxB ®THdAd 8 A, BPI 989 &

M+ N-0=T x P then which of the following mustbetrue? / M+ N-0=T x Pa Ay

Hq PH I 97 g T1fke?

® Pisdaughter-in-lawof M. / P, M G| 98 %I

® N is mother-in-law of P. / N, P B I %I

® Qisgrandsonof M. / O, M Eﬂtﬁ?ﬂ%l

® TisgranddaughterofM. / T, M CARYIG| %I
Correct Answer :-0is grandson of M. / 0, M T UYdT 2|
92)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / FH 7y ¥, U830 Ueg T g Ueg F WY fHt 7pR A HIE WY 1 AR W g P71 A1 e &b
1Y I YHR BT AGY FHT ALY, <l AT }eg THIT:

Atom : Element :: Cell : ? / TRHIY : dd :: |d : ?
° Live/\_rﬂ'ﬁ?f
® Tissue / P
® Center / TdeR
® Animal / SITHAR
Correct Answer :-Tissue / Sd®
93)

Question Stimulus :-

In how many ways can the letters of the word ‘APPLE’ be arranged to form a five letter word? / ‘APPLE’ Rleg

¥ 3&RY i forat R § afRUd FX THd g Forad i U ura sigRi & eg o1 frmfor fpan sm a%?
e 50
e 48
e 60
e 120
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Correct Answer :-60

94)

Question Stimulus :-

Nitin travels 12 km in the southward direction and then travels 5 km to the right and then travels 15 km towards
the right and finally travels 5 km towards the east. How far is he from the starting place? / fafes E'f%I'UT ﬁ'Q'IT H
12 foft aran war 7 SR R grdt iR 5 foset amn Far § ok fv arfY SiiR 15 feft e ovan 3
IR 3id ® qRE #1 3R 5 fHet a1 Hvar g1 a5 iRy fig A fpai gx &2

e 285 km / 28.5 foodit
* 11.5km / 11.5 foeft
e 3km / 35
e 5km / 5o
Correct Answer :-3 km / 3 f&Ht

95)

Question Stimulus :-

Tanmay started from his house and went 2 km straight. He then turned towards his right and went 1 km. He
turned again towards his right and went 1 km. If Tanmay is north-west from his house, then in which direction

didhegointhebeginning?/Wﬁmﬂ?ﬁwméﬁ?ZﬁTﬁﬁ%ﬂWIfﬁﬂ'ﬁmwm
T 3R 1 fpH) a1 a8 fp= eroeit rft oiik gt ok 1 feft o) afe 9=y S == | SwR-uf3y fa=m
H g, a1 98 IR=ed | o fomm o

* North-East / STR-URd

® South / Gf&UT

* South-East / Gf&U-IRE

* West / afyd
Correct Answer :-West / Uf3¥
96)

Question Stimulus :-

Select the option, which is the logical equivalent of the given statement:/ 38 fa®er g~a it
% @1 =} I R R M vy F wuE

If Ram plays cricket, then the team will win / af¢ I fbdhe @aar g, @ v shaf
® If Ram doesn’t play cricket, then the team will not win / gfe 3w fpehe qﬁ Q[edr %, a &u T-Iﬁ St
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® The team won. Ram played the cricket / &9 Sfia Tlgl I A fpbe @an
® If the team lost, then Ram didn’t play the cricket / gfe & e Tlg, a1 3 | fopde qﬁ QT
® If Ram doesn’t play cricket, then the team will win /”Clﬁ'[ IH fopdbe T-I'[ﬂ QadT %, a &g Sl

Correct Answer :-If the team lost, then Ram didn’t play the cricket / gfe 9 3R Tlg, I IW A fepdbe
T8I @

97)

Question Stimulus :-

Select the option, which is the logical equivalent of the given statement: / 98 fawey g~a =it
b P e A T T T FY=T & IUE

If Tanvi checks the reports, then there will not be any mistake. / gfe a=dt fraief &1 s B %,

@ PIE o Tt Y gt

® If Tanvi doesn’t checks the reports, then there will not be any mistake. / gfe a=dt feuid A% 81 Hedt %,
@t B ot Tadt 98 @nft

® If Tanvi doesn’t checks the reports, then there will be mistakes. / U% a=ar F{tﬁ% 9P =|€r BT %, ar
Tferar givt|
® If there is no mistake, then Tanvi hadn’t checked the reports. / ‘Tﬁ' ﬁé G qﬁ %, GIGE: quﬁ
AP T8 P g
® If there is mistake, then Tanvi hadn’t checked the reports. /?T% aﬁ'{' NG %, =t A o 9@ =|€f
3 gl
Correct Answer :-If there is mistake, then Tanvi hadn’t checked the reports. /afe aﬁi TSt %, ar o=t
A e I T8 91 B
98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y ﬂﬁ'a Eli
faa T $y=Y vd el & TR # 98 8:

Statements: / ®Y-:

All Indians are illiterate. / T4 YRAT 3FUS &1
Ramesh is an Indian. / Tﬁ'ﬂ@ﬁ ‘l-n?'cﬂ'q%l
Conclusions: / fAwpu:

I. Some illiterate people are Indians / I. $9 3(Ug T ‘l-nTcﬁ'q%
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I1. Ramesh is illiterate. / II. EE= b 3[Y¢ %I

® Only conclusion | follows / W ﬁmmsf | Freaar %

® Only conclusion Il follows /W ﬁw)‘cf n fFreadr %

® Both I and Il follow / &1 | 3R 1l fwad &

e Either I or Il follows / GT @Y 1 AT B3 11 fFrear %
Correct Answer :-Both I and Il follow / &1 | 3% 1l frPed &
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ ﬂﬁ'& <
faa T $y=Y vd el & T A 98 8

Statements: / ®Y:
All hills are dangerous. / Q'-r‘l-ﬁtlﬁ'l?;w %'I

Himalaya is not a hill / iR¥T9Y t& 1gIe 81 @

Conclusions: / faemd:
I. Anything which is dangerous is a hill. / I. $© ft &t @RS %, U ﬂ%’l@f%l

II. Himalaya is not dangerous. / II. %mw Hﬁ%l
® Only conclusion | follows / *ad freed | fFreaar %
® Only conclusion Il follows / Fad ey || eaar %
e Either I or Il follows / IT 1 1 AT B3 1 FApaar %
® Neither I nor Il follows /1 9T I ﬂ'ﬁi ot T-Iﬁ Froddar %

Correct Answer :-Neither | nor Il follows /1 9T 1l aﬁ's‘ ot 18 fApaar %

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d@

FYF g & A T Fy=l vd Fewuf & ar | 98 &
Statements: / ®Y-:
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Some interviews are exams / $© $e3g T &
All exams are tests / G4 TaMQ ¢ ¢

Conclusions: / fAwpd:
I.All tests are exams / I. 9l ¢ udtame g

II.Some tests are interviews / II. 99 (5 32?3‘1%

® Only conclusion | follows / *Had frspd | fAreadr %

® Only conclusion Il follows / W ﬁwﬁf | ﬁ'ﬁ?ﬂ %

® Both conclusion | and Il follows /ﬁwcf | Gﬁ?' | aT'ﬁ ﬁﬁﬁ' %

® None of the conclusion I and Il follows / forst 1 3R 1 & @ ﬁé i T-Iﬁ freaar %
Correct Answer :-0Only conclusion Il follows /aﬁﬁ ﬁWEf ] ﬁlﬁ?ﬂ %
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